1, 2 refer to T-network to m-network conversion
3. The bridged-T network.
Z matrix
With port 2 open-circuited,
Z(Z,+Z,) Lz A2+ +Z,NZ,+Z,)

Z.=Z.IZ +Z)+Z, = : :
n =2 M2+ Z) 2, Z,+(Z+2,) Z,+Z,+Z,
V. Z.1 Z
Z,=-2% V,=Z,'1,+Z,—*Y\ .7 =7Z,+Z,————.

I, 2o Z+Z,+27, Z+7Z,+7Z,
Y matrix

With port 2 short-circuited, Y11 = Yi, = 1/Z;, thus it can be found from previous homework,

1 (z+2)z,+2))+2,Z,

Y, =— =1 o2)T Ca%a
"z, 22(2,+7,)+2,2,Z,

y Ll 1 zZ,hz, 1 1 Z,7, L__zl(zz+z;)+(zl'+zz)z'2
Y Vil 4 Z2+Z,02,2, 7, Z(2,+2,)+2,2, 2, 7,2(2,+Z,)+22,Z,




